PdfnEf] tkif6 hoIf tki§f podbjt/sflgfdjnl |

Q- IhNNf I gfd
i
1= tfinh® 1=ekib|y]]
2=8Da/lijh thafxfDkr]
2= kffry/ 1=Ulfg sfajfe
2=8Da/l; * ;DafxiDki]
3= ;vf;ef 1=xp/fh 131d/]
2=/fhib| uffd
4= thyd I- ejfgl vik®
5= efhk/ 1=skfz/ zki{
2=z]Jwg /i){
6= ;fh\vba’ I- cf@df nfdf
7= /;3f I- hgib§ 9sfn
8= dgf@ I- [51/2 nf]; 2
9= d:tfe I- rébffkg uffg
10= | 8ffki I- wgaxfb/ adf
11= [ dU' I- dfxg aflgof
12= | hdnf I- kbdaxfb/ /fsfo
13= | sflnsfp I- stlfth zixL
14= | XOnf I- bn /fjn
15= | afh/f 1= SOffxtb/ ytkt
16= | c5fd 1= eldaxfo/ /fjn
2=e/t ;fpb
17= | aenfa 1= dfgkf fb val
2= nfnaxib/ /fjn
18= | 8ffl 1= gf/b dnf;L
2= kplaxth/ cfn]
19= | bfrff 1= ulffl ; % 7ubgf
20= | aj8l 1= bfdfb/ e08f/
2= dxfb] e§
21= | 88hw/t I- ti/fkf fb hffl
22= | vipfa 1= k=5 /f0{
2=jzfn e§/ff
23= | ?7sd 1= vildfg v8sf
2= Tulb|kisfz kil
24= | foTig 1= Jfdbj ufkd
2=x/faxfo/ si; !
25= | ;Nofg 1=uhfahk zfx
2=kfz Hjfnf
26= | /Jkf 1=Ixtaxth/ /it du/




2= SHT/ bz

27=

bfa

1=/Jtl/d0f zdf{
2=2f6tf rip/l
3=nld0f cfrio{
4=/ kfy/h
5=pQ/stf/ cfhl

28=

afts]

1=hj/th ef/
2=lbgk rth|ofbj
3=Ijhof lwtfn
4=hnaxfb/ ;gf/

29=

albpf

1=Jfdbj ufid
2=k0f{zdf{

3=|J ;Itof yf? -lJi0f' rip/l
4=nfpgsdi/ riy/L

30=

hfh/sfp

1=8Da/axth/ ;%
2=s|lfaxth/ adf

31=

bhy

1=chd/axfby yikf
2-nldikEfb kizh

32=

s~rgk/

1=nfnaxfb/ 1jZjsdff
2=tf/f nfdf
3=g/axfb/ widL

2-pjfh0 kit

33=

DoflbL

I gj/th zdff




34=

afin&

1=Ix/f si;l
2=; B{kf7s
3=zf6tl clwsf/L

35=

ndh®&

1=hldbbfifg 3n]
2=k[jL;haf u?2

36=

uffvf

1=/fdz/0f a:gk
2=afalfd clwsf/l
3=S|0f gkinl

37=

toxf

1=/fdaxfb/ u?2
2=s[fstf/ >{7
3=65/fth |;lbh

38=

-ofEht

1=gf/folf d/fi; gL
2-S[0f VF8
3-dIOKE fb ki7s

39=

udl

1= dyfsti/l e08fl
2-kbLkstlf/ Ljfnl

3= ufB0lji6

40=

slknj:t'

1=an/fd clwsf/l
2=clhhb\/xdfg
3=afa/fd vgfn
a=gf/th clwsf/l
s=dlgf kl/of/

41=

TG

1=dfwjstf/ gkfn
2=cah snfd cfhfb-
3=xpo gf/folf ;fx
4=;/Inf ofbj
5=/fdstlf/ e§/f0f

42=

af/f

1=atx' ofb]
2=]f;b] ofbj
3=1jgfh zfx
4=dxdb cfnd
s=anjl/ riy/L
6=k?Iffpd kiBh

43=

K:H

1=gJ/fth zdf{
2=1Jrf/l ofbj
3=/thsdf/ uktf
4=kB0g rfkfg
5=hokkfz yf?

dsjfgk/

1=0f/th h3f{du/
2=;Jf;réb|7s/L
3=cgbt kigh




4=/fht/td :of2tf2

45=

kiNkf

1=/fwis|0f s0fp
2= ; Ttk fb kf08]
3=shkgfb gkin

46=

c3f/frrl

1=g/IbBUT I
2-btifg |5 yiki

47=

|; 6wkiNrfs

1=c?0tkf b gkin
2=;§f; sdfffof
3=z]axfh/ tidf2

48=

g3fsfp

1=Skj ki8]
2-1jbf gt
3=gf/folf vitjsf

49=

sfeknf~rfg

1= ; tfdlht nfdf
2=/fdx/L ;b
3=ufgh jf:sfpf
4=1jbIkEth ; tksfhf

50=

bihwvi

1=kijE U2
2-clgibkE b kij/h

51=

JdbTk

1=sdnkpfz ;jf7/
2=shfzkk b 9Eh

52=

' bwhl

1=U0fE kxf8L
2=pdf sf/inf
3=sdnh? /i0{

53=

> nffl

1=eingfy vgfn
2=; /ib| nfdf
3=xI/ pkEL
4=[thgf/folf zfx
5=0/Jb|/fo ofbj
6=jgf 7fs/

dxf/L

1=hUf{bfxfn
2=d~h'ofbj
3=/fdbofn d08n
4=0Inof; cG;f/L
5=hlkgf/folf zfx thl
6=Sfglnfn ofbj

55=

wgff

1=/1gFj/ ufft
2=cfgbb -uwf/fd_ ofbj
3=hhlstf/l dxtf]
a=>lkEfh zfx
5=/3§l/ dxf;¥
6=0fligf/folf ofbj
7=2Z(Eg dxtf]




|5 /ixf

1=/thib| dxtf]
2=/fdrGb|ofbj
3=k{ifhstf/ ofbj
4=/tdcjti/ ofbj
5=nLnfgfy >{7
6=I; tibjl zix

57=

0

1=eingfy vgfn
2=;3f; g

3=6%5axf/ /f0{

58=

enfkf

1=/1Jg sf/fnf
2=kljqf lg/fhf

3=] ; 6t aflgof

4=k}l lu/L
s=nfnkffh ;i InDj’
6=blks sfsl{
7=S¥Ki: zdf{cfhl

59=

wgsbf

1=16sf rhff
2=/fhb] /10{

60=

05/

1=s|0fsdf/ /f0{
2=/t e(8f/
3=eujtl riy/l
a=vii/fh kiy/h
s=hublz sz}
e=eldkf b cfrfof

61=

dff2

1=Clifsk kfy/h
2= 08k fo /f0{
3=U?kLfh j/in
a=1fgj/ Ithjzl
s=/fdnfn ;X
6=dxk e8/f0f
7=0Zfpf clwsf/l
8= rbpxfo/ u?2
9=wgZofd vIt]8f

62=

cfl/n9Ef

1=01/th ;ujf/
2=(fglafa’ a9fyfel

63=

pbok/

1=dI0f/th pkfiiofo kigh
2=0~h' riy/L
3=hutgfy vitj8f

64=

(/L

1= ; tlg/fh fofs/h
2=zhb| enf
3=d~hbjl zfx
s=tf/fsiot riy/l




5= ufljchaxfby Gofkig]
6= j Pgf/folf zfx

65=

shinl

1=Kl ;fpb

2= dfgl % /77

3= riblst kisfz iyl
2=hL3{; i/l
s-kbdl - |7 3fn
s=dxlj/ ki7s

66=

Vi

1=sdnf zdf{
2=0fdnfn s(fp
3=gj/th /fjt

67=

kit

1=Ulfg ItldIN; gf
2=jsf; nD;fn

68=

sf:sl

1=dfgaxfb/ Ih=;:
2=S|0f yfkf
3=/1j6b| clwsf/l
a=|;tf lu/l

69=

gnk/f;l

1=hlks clwsf/L
2=hljg >|7
3=s|[0f kigh
a=Jhgfy rfj/l
5=hlklb| clwsf/L
6=I/Enf ofbj

70=

e

1=5ljnfn [jZjsdf{
2=e/t kiyh
3=3gZofd e’;fn
a=Iji0tk fo kf@h
5=/fdgfy 9sfn
6=kDkfjtL vgfn
7=>l/td ofbj

Irtjg

1= ; /lb| kf08]

2=S[0f vgfn

3=s[0feQn kfiji/h
4=lbnstf/l -kfjgL /fjn
s5=hfgaxfb/ tfdf®

72=

wflb&

1=wgaxth/ 3n]
2=U?kEfh jhiEfpl
3=/fhjok fo ki08]

73=

sfrdf8fy

I- [jBf Gofkfg]

0- diwjsdf/ gkfn
# /fd]j/ khofn
$: lgdf s0éh




= 0F3/ kiyh

"= offiz e8/10{

& /fdjl/ digow/
*: hijg/fd >J7

(= sfufkin >{7
1): ; /ib| dfgow/

74= | eQik/ I- /~h'gflkt
0- dxk a:gk
75= | nintk/ I- dw’;bg kiBh

@- s[0fnfn dxh§
# /3hL kit




